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COMMERCE
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  The method being used for Transferring Complex Technology is known as : " W
(1) Licensing Agreement (2) Transfer of Technology v - / 2 |
(3) Turnkey Contract (4) None of the above r \ - f
- |
2. Which of the following is not a ‘force’ in the “Porter Five Forces Mdglel” a S
(1) Buyers (2) Supnlieri\v ( L » '-
(3) Complementary produce 4) In sfl'!_ly 11 alry . 1

3.  LIBOR term is used for :
(1) Deposit rate in European market
(2) Interest rate in Euro currency market [
(3) Deposit rate applicable to m’ce&I k loans in Lordﬁﬁ /
(4) Interest rate in Euro bond ma?et
4.  Which of the following chana.c‘s&ises the early stage financial crises ?
(1) Falling the prlce of 1f31dent1al properties
2)  Excessive euphI‘ui about the future price of certain assets

()
(3) Excessive pessimism ‘about future assets price
(4) Stragn§1§ share price

5. ( Assertion (A) : \\‘91 Government decided to allow all foreign investments to any industry
ithout any restrictions.

Reason (R) : overnment has enhanced the investment limit of small scale industrial
units.

Cades

<X'Both (A)and (R) are true and (R) is the correct explanation of (A).
(2) ,,..Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.

o-ass [N

N
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TS
U99-U - III

e : 39 TE-T9 § UOET (75) dg-Tashedid U9 § 1 TS Y9 % | (2) of €1 Wl g Stframd ¥

1. oA YrENfTen! =0l skt i o1 frefafe =M @ S S g P L 1
(1) <EAfET e (2) rENfTERT S _,") |
(3) ‘'Rl STy 4) SR H Y FE o T *’,f'

-

o o~ o 9 . |
2. frefafea # 9 95 & weg w89 Aied’ & o= (i TR R 7 . g

< 4
(1) ) 31T‘1ﬁ{TVﬁ ('E..--,_ F

() T W @) et %\
3. el aR, (o) s Bl e SR |

(1) FAEE IR H 79 R & fag

2) U & 9NIR § AN R & A :

2
(3) WA H FR-Sk HTI W A 99 R & fau £
(4) -9 IR § = R F fag ( ‘

| P
4. ﬁmﬁrﬁaﬁﬁ@ﬁ?—wfﬁﬁhﬁwuﬁwam%?
(1) e weafet i fn—m H firrere
2) fogfaRk- [ AR R % T S -SeTEITg e
(3) et uRk- ﬁaﬁﬂ?ﬁ F Y % ST RmeTeTSt 2
(4) I L FRA H TAGH

5. (ﬁw (A) : z = 1991 ® wft faceh feren =1 fom foreft afaery & forsdt off samT o srgmfa
- 1 g fom |

T (R) : TIHR A Y SN Sh1gal | a9 1w B s 2|
-

I&(A)aﬂw\)ﬁﬂﬁ%wmmmaﬁaﬁwm%

(2) ¥ (A)TE (R) Sl W € 0] (R), (A) FT HEl AT T H R

@) (&) w3 e (R) T B

(4) (A) T 8 W (R) R R
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6. When a business is purchased, any amount paid in excess of the total of assets, minus the
liabilities taken, is called :

(1) Share Premium (2) Goodwill
(3) Capital Employed (4) Working Capital

7.  Indicate the correct code as regards the sources of funds for a Funds Flow Statement from
the following :

(@) Increase in working capital " i)

(b) Decrease in working capital v / * -I
(c)  Writing off the intangible/fictitious assets r > r’
(d) Issuing equity shares for acquisition of a building for office - |

(e) Charging depreciation on fixed assets I y e

Codes : F

1 @ (© @ 2) (b)) () (3) ( ‘(4 ) (9), (d)

8.  Which of the following statements are corregt ?

(a) Analysis and interpretation of financial statenfents, is a function of accounting.

(b) Profit and Loss account is prepared for ascert g f1nanc1al position of a firm.

() Goodwill is a wasting asset.

(d) Balance Sheet is prepared for ﬁc#tammg fma ial pos1t10n of a firm.

Select the correct answer using 4lge fdes given below

Codes :

1) @and® () MWand(@©  (G) @and(d) @) () and ©)
' 4

9. Match the items of t 1 'with those of the List - II and indicate the correct code for the

following : ‘-‘
List % 1 List - II
+ (a) # Debtors ‘Ilrnover Ratio (i)  Solvency Ratio
(’ (b') ProprietaryyRatio (ii) Liquidity Ratio
(c) Operating Kati (iii) Activity Ratio
(d) JAcid Test Ratio (iv) Profitability Ratio
Codes
L(a) ®) f© (@
W\, ) v @6
@ i) () (O @)

@ @& o @ G
@) v @) @ o
il

s |

=
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6. 4 fordll =EE™ w1 wA ke s & @ foaw T Il #1 s & 9] o= A 9efadl & 9ed 9
A T T AR H Fel A8

(1) % A (2) efd
3) fafrenfsa 4t (4) RN IS

7. Tiefafed § 9 w9 yamg foaerk & faw sl & @6l o 954 § W@l §e 3R S 14
(a) =S A G f" ‘
(b) = Yoit § HHI /‘J
(c) oTd uRewafal/ snvrel sfitaeafa =i stafefad & r F
(d) =T g FH6E F %I & foaw gHar e 1 i - >
(e) Teor wrafall WX g9 wre
e :

1 @ (© @

8. frfafad # @ ®F-3 wum W& €2
(a) ﬁ?ﬂaﬁwmﬁwﬁsﬁwqaﬁéaﬂ
(b) Wﬁgﬁ@mwﬁﬁﬁaﬁqﬁraﬁmﬁ%@ G\y’l%ﬂ
(c) I T amia SV g |
(d) fTag deen =t o< feafa 3@ %wmw{“

W@ﬁmﬁvﬁw = HICL

e :
(1) (2= (b) <@ @ T (o) 3 @@ (9 4) (o) TW (o)
9. frfafaa geit- ‘Iﬁ%#;ﬁ-naﬁnﬁﬁﬁaﬁﬁmﬁﬂﬁméﬁmﬁm:
H\iﬁ,‘; I it - 11
<% e e () weA-awEr SO
( (b) W= ‘ﬁq\m (ii) AT ST
(o) TfETe (i) @EA-Yfd ST
('cl)r*ac—ch‘la (iv) MSRIRAl STIUT
‘ (@ () () (d)
il
(3) (i) (i) (iV) (ii)
4) (@{v) (i)
voss [[I[1{] |\| ; Paper
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10. For the following two statements of Assertion (A) and Reasoning (R), indicate the correct
code :

Assertion (A) : Cash Flow Statement as per the financial statements as well is incapable in
revealing the overall financial position of a firm.

Reasoning (R) : Cash is an important constituent of the working capital based on the
recorded facts only.

Codes : Es 'y .|
\ / ’
(1) (A) and (R) both are correct and (R) is an explanation of (A). r’ ' ta r

- |

(2)  (A) is correct but (R) is not correct. g
< o .
(3)  (A) is not correct but (R) is correct % ( b
1<
(4) (A) and (R) both are incorrect T y
11. For the following two statements of Assertion (A) easoning (R), indicate the correct

code : /

Assertion (A) : The quantity of a Qrenodity demahded .invariably changes inversely to
changes in its gic

Reasoning (R) : The price effe‘:.ﬂs the net result of the positive substitution effect and negative
income effeet.

A
Codes : i -
%
(1) (A) and (R) bot are‘correct. (2)  (A) is correct but (R) is incorrect.
( (A) is Mc@rrect but (R) is correct. (4) (A) and (R) both are incorrect.

12. “Economic capaci of a plant represents its :
T
(1 max1mur:rhys1cal output level
(2} average output level over a period
(3™ kfeak—even output and sales level

(4) output level that equates the average and the marginal costs

o-ass [ HFARNR R
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10. fr=fafed T sfyeweHl gmeT (A) 9 ek (R) & faT 9@ #ie 3 sifee

T (A) foita faamon o STTUR W b YaTg faero ®H &1 99y fo<ia g9 &l T &wE
H 1M ¢ |
T (R) : kg =1 ISt 1 T Hewwqul Hoesh 1, ot foafad qeai A w enenfia 71
% - ‘¢ .
(1) (A) T (R) ST & € TH (R), (A) FT TH TEF . J )
2) (A) TR T WfeA (R) T TR - d
(3) (A) W& TE ¢ wfeh (R) Wl
(4) (A)TE (R) I HEI TR 2| (
11. <MET (A) TS @eh (R) & F=fafEd < wael & unﬁﬁm
T (A) : a'@aﬁwrrﬁﬂﬁmq‘ﬂfswiwﬁ ﬁ;ﬁﬂﬁﬁwﬁaﬁﬁiﬁi%
e (R) : WQWT GTd o SRONcH 3TT9 J9Te T Y[ TR0 7 |
Fe :
(1) (A) T R) S i%“ﬁ%.b (2) (A)WE & fhg (R) 21 &I
3) (A)Héqj%m(ﬁ)‘m”r%l 4) (A)TE (R) I wE T
12.(ww%rﬁ af Awﬁﬁfaamﬁ% THF
(i) st IATEH &L h |
2 H offed 3caeT W) A |
3 )‘.\’Fllq'l Td o o FA-fo=ag W &1 |
(4) 9 AT TR I S STHd Td FH AT hl SIeR S ¢ |
o-asss [[{HIL VAN ;
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13.
List - I
(a) Excess capacity of the plant (i)
(b) Resorting to New Technology (ii)
(c)  Setting up of the Training Institutions (iii)
(d) Reserve capacity of the plant (iv)
Codes :
(@ (b) (o) (d)
M O @) @) G
@ ) O () G
@) G @) @ @)
@) () @) @) 0
14. In case the elasticity of demand on an average reve

revenue will be :

(

1)

more than unity

(2)

(3) equal to a fraction of unity 4 «4)

“§

b
~N
- ’.I

Match the items of List - I with those of the List - II and indicate the correct code :

List - II
Cost reduction with output expansion
Constant cost with output expansion
Internal economies
External economies . r »
\) / * 'I
Y v/

- |

e gurve is equal to unity, the marginal

equal to unity /'

equal td zero

4

15. Match the items of the List - li_glith those of the List - II and indicate the correct code :
r'

List - I " P’ List - II

(a) Trade Channe?)itwgnt (i)  Oligopoly Pricing

(b) Loss Leadgrship \ ["‘ (ii) Locational Price Differentials

(c) ‘ Pricing being non - responsive to changes in (i) Differential Pricing
e’ the dernan d the cost
((d) Basing Pov’ (iv) Product - Line Pricing
| Codes :

Tr@ o ® e @

) @) i J (i @)

QN ) ) O G

AT @ @ v o

4) @G (@) @) (iv)

o-asss || LRI
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13. eIt - 1 W3l 1 Gt - [ 1 71 § e SIS w6 9& e i@ i
At - 1 T - 11

(a) HIA ! THF AT () ScuRA fIER & WY AR el

(b) T R STAAET ST (i) ScureA foredr & @y feer anmd

(c)  WreTor Heenstl i Toma (iii) ST=afR fadeafaand « 4

(d) T =t Gfed e (iv) o1 fadeafaan "‘ b |

e : \} - ("l'l
@ ® (© @ _f ' AP

M O @) (v G <14 "r'

@ @ 6 ) 6@ * 4 (""j-

@) () @) @ () ) b |

(4) (v) (D) @) ()

14. W@ﬁwmwmﬁﬁ@awﬁ%é\#mm:
(1) TE @ Afysw (2) THE %ﬁ.f

(3) T & T W F TR ‘&4) TAF
1[ -

15. § - [ &1 7l 1 G - naﬂ'ﬂ%ﬁﬁmﬂﬁﬁq@qﬁ@?ﬁmaﬁm:

el - 1 ”- et - 11
(a) SIUR He2 ?52( ‘ () STeufwER qead
(b) @I ﬁ?@ E:- | (i) Fenfieh qou fauces
3 "(c)" T o AT Wg AT o gierdHl R IR-Aqfohereh e (i) fades qeor
((d) TR forg (iv) SAE- A0 HeI
¥ @ (b) J(c) (d)
(I} (@v) (DS G) (@)
2) M4 (i) (v) (@ (i)
@ @ @ ) o
4) (1) @) (D) (i)
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16. Statement - I: When a null hypothesis gets rejected in statistical hypothesis testing, it is
known as II type - error in hypothesis testing.
Statement - II : When a sample is small sized and parametric value of the standard deviation
is not known, z - test is the most appropriate test for hypothesis testing.

Codes :
(1) Both statements are correct
) Both statements are incorrect 1
(3) Statement - I is correct while statement - II is incorrect " )
(4) Statement - I is incorrect while statement - II is correct )r
L ]

17. The following are the estimated regression equations for x and y Varlablr“ r’

x=0.85y

y=0.89x vy

With this information, the value of the coeff1c1ent of correlation V\ﬂoulgi be : r

(1) 0.87 (2) 0.86 0.8‘.\‘ r{ 0.75
18. The power of the statistical hypothesis testingfis' denoted by :

(1)« (alpha) (2) B (beta) 3 -« 4 1-p

19. Match the items of List - I and List - II and indicdtefthe code of correct matching of the

items : /

List - I 4 ( List - II('"
2 2

(a) 5 P Measurement for Kurtosis
e ‘ .j
r'
‘Xl - XZ‘ 1 {
| » . .
(b) \/0123 E# " 1¢ :\ (i) Calculated value of F ratio
rg N2 \ ‘
. by v
—(C ) pb%‘ \\\ (iii) Statistical approach to find out the size of sample
(" |
\ 2
o5,
@ wi2 (iv) Calculated z value of mean differences

g s 5y
Codes : J
a) (b)/f (0 ()

N o '
o 6 ow o
(4) (i)
s [ I\H\II\ I\I\I\I 10
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16.

17.

18.

19.

oass

HYA-1 : STel SR UfeheuT Hifersh! TReheTaT TieT § T 8 Sl § A1 39 9o e
1 11 TR 1 JfE el S 7

FHIA-1I 9 T Yiaest B SAHR H1 & Ud YA foaer #1 yrefesd god 9 T @ a9
IR TeTo & T Ted SUge eI 2 - TIET07 B © |

%<

(1) SH wHIT TS| "

(2) THI HUT TEE & |

(4

)
(3) YT -1 TE T VAR R - [1 7Terd 7 |
) AT - 17T ¢ SA(F R - 11 TR B

)

Vi /

r’- ."l

r

v 3Ry = & i gt frefafed € -

x=0.85y
y=0.89x

.
TG GO o STHR T =4 Uleh &1 Jed B 1‘\

(1) 0.87

2) 0.86 0.89" ' 4 075

HReThT YTahou=T YL&TT Skt ST <kl SO :

(1) o (37T (2)

G - [T A 1 Gl - [ 1 /&l |
Tt - 1

B (ften) ¢ 1- 4 1-p

FIT 3R ﬁ!gmﬂﬁwaﬂwﬁf@rq:
_ W_I?gi

22-0' ‘{ - i
(a) u (i) HeIfE A
€ w—
‘Xl—iz‘q‘ 1{
®) o2 glep 1N (¢ G F o T o e

iii)

iv) (i) (
iv)

) (@

(
Ll

(iii) TfaQel o SRR &I ST o fag Fifeent sifamH

(iv) el st faerdn Rt AT 2 Jod

(b)™ ()  (d)

(iii) (iv)
i)
(i) (1)

) (i
[l

i

)
| n
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20. Assertion (A) : A reasonably large sized sample drawn randomly from a given population
contains almost all the characteristics of the population.

Reason (R) : As per the sampling theory, the assertion is based only on the ‘Law of Inertia
of Large Numbers’.

Codes :
(I) Assertion (A) is correct and Reason (R) as per the sampling theory is also fully correct.

(2) Assertion (A) is correct but the Reason (R) as per the sampling theory gngt fully
correct. |
V. '
(3) Both Assertion (A) and Reason (R) are incorrect. . .

(4) Assertion (A) is incorrect but the Reason (R) is sufficient as per the sampling t[eory.

": i y ¥

<

21. Which of the following approaches of team building isibased the bellef that each person
possesses positive and negative characteristicsgthat ust be ow ed up to a permitted
expression ?

(I) Process approach (2) fGestalt approach

(3) Role analysis approach (4) | Parall@l learning structure approach

22.  Which of the following factors lead Q oup cohesivef%?’
(a) agreement on group goals b) high infra-group competition
(c) frequent interaction of r‘e‘?ﬁbé (d) persor{al attractiveness
Codes : -
(1) (a) and (b) } BA @Oad© ¢ @Ond@ @ @ 6andd
23. Assertion (A) : . ‘ Uncertau!\ty Avoidance’ is one of the dimensions of cultural differences, as
v ‘ identified by Geert Hofstede.

Reasonmg (R) :fUncertainty Avoidance’ is the extent to which people feel threatened by
( mbjguous situations. To avoid such situations, organisations provide
reater career stability, make more formal rules and reject deviant

ehaviours.

odes
Q(A) is wrong (R) is right
(2)

Both (A) and (R) are wrong
(3) ]{)th (A) and (R) are right and (R) is the correct explanation of (A)

Both (A) and (R) are right but (R) is not the correct explanation of (A)

(4)
o-asss [ LI
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20. AMUHRIT (A): T A T 990 § Igi=5® &9 9 foran T U 3fea ged AR & giaes § T
Y 1 e faieaT faeme et €

e (R) : freeia faga & ER 78 Afushed Fad ‘98 & &I Jedl & 90’ W
et ¥

%< : .

(1) ot (A) 98 2 16 frevi fagm % MR = qd (R) o T @ e ¥ (":

() e (A) W @ weq Fraet firgra % s w A (R) T @ WA § /1 ,I

(3) AfUehe (A) T Weh (R) ST Tord | ( o

) AfiRer (A) Terd @ W e Rt % R W ek (R) A 2

(4 g I
o - 3
21. frfafed § § 2W fmi 1 SF-9 s 59 ﬂ'l?l‘%ﬁtﬂ‘!\aﬂmﬁﬂ(% fop{oereh =aferd & ThmIe

(1) wfskan e (2) fed orf
(3)  offaen favermm stfirm (4) YT gran sIfrm

22. ﬁmﬁr@aﬁﬁaﬁq—ﬁquﬁw@aﬂxﬁm 77 £
(a) 9T A& W HeAld < (b) = ’, -gug yfqeaet
(c) = H wgHl aﬁw‘am)_j (d) ARG STHY
RE : <14
(1) (a) T (b) ¢ (2)~ }(a), GTE () @ @O @) (@ bT(d

{
23. fweEm (A) ;J}Gﬂ?f RIS o STTHN * ATf=am TeR Hipias fa9g #1 T& T8 ¢ |

T (R): ﬁﬁgﬁﬁﬁﬁﬁﬁwmwwmwmwmw%
( [ &1 W HT & o3 HTed I=a e fEowd TeM %3 &, afue
fereil 1 oA € e faafea sreroll &1 sdiefed 3 €|

E
(1\‘(A)W% (R) &t § 1

2) ¥ (A) #TR(R) I 7o 2 |
-
3) &) 3R (R) S WE €, T (R), (A) FT FE A HLT 2|
4) (A) R (R) S TE €, T (R), (A) FT L AR T el B |

o-osss [N s
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24. Which of the following is the internal conflict or anxiety that occurs when people receive
information incompatible with their value systems, prior decisions and knowledge ?

(a) Polarisation (b) Cognitive dissonance

(c) Premature evaluation (d) Projection

Codes :

(1) (a) and (b) (2)  Only (b) 'Q

(3 Only () @) @ (), (©) and (@) €

V. / ’

25. Matrix organisation structure is essentially a violation of the principle ofr r

(1) Unity of Command (2) Scalar Chain y ¥ I

(3)  Unity of Direction D1V1Slon (fLabo‘r { F

26. Which of the following statements is not true

(I) One sided messages work best withfaudienices those are initially predisposed to
communicator’s position.

(2) Two sided arguments work best with audiencesfwho arg similar and not opposed.
(3) Two sided messages tend to b re effective vrfrﬁe'tter educated audiences.

(4) Two sided messages ten more effective lwith audiences those are likely to be
exposed to counter pro% j F

27.  In the course of converting to a marketing-oriented company, a company may face which of
the following hurdles24 . \

(1) Organise rems(ance‘ (2) Slow learning
(3) Fast foge ing (4) All of the above

= "
1\\
28.1 A person’s distinguishing psychological characteristics that lead to relatively consistent and
" enduring responses to his or her environment is called :

('1,) ‘Life style (2)  Self-concept (3) Personality (4) Attitude
F’

29. WHhen electronic markets permit prices to change faster even daily as a function of demand

upply then this practice is called :
-
QGmpetitive pricing (2) e-marketing pricing

(3) yield management pricing (4) none of the above

o-ass [ TN
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24, freAfafed § 9 &9 stiale go @ fowa g S 79 =fed 2t § 59 T SAfo T o I w3l §
S 3 oI Hernal, gd il T 99 9 9 T8 @ § ?

(a) gateRTu (b) T STHM

(c) STIRUF HedAH (d) &

%<

1) @b @ () - ’4‘ )

(3) e (d) 4) (@ (), (© T (d) s ) .
V. w

25. ﬁ@w@maﬁaﬂﬁﬁaﬁw@mﬁmwmﬁ r i
(1) QY H THT ) - '
(3) foum =t Thal - Jl%mm'—r

| {f_

26. frefafed & @ SF-91 %97 9@ & © 2
(1) T TH T 3 draedi & fere stegem 9 ¥ g e i feafd & ufd o
hTa T T |
(2) A TR AT 57 drensti & forg sreqam ﬁwﬁ@ﬁ%ﬁﬁﬁﬂﬁ@ﬁl

(3) < TH Hy dga ffard %ﬁmaﬁimaﬁwg

(4) < TEH HI TH Fare o fog Em@ﬁ%eﬁﬁﬁﬁwﬁaﬂﬁw
BN T HHTE W@ | ':

27. Wﬁq@mﬁ%mﬁvﬁaﬁa%ﬁ%%wwﬁaﬁﬁw&f@ﬁﬁ@mmﬁamw
FAT TS HFATR? :_,K
(1) wufea f p (2) o sAfere
(3) i (4) S gt
“@"

28. (Q%"Wﬁﬁ%‘%‘@ \i 3T |<:{9||—| el AR &0, T 38 Taiawor & i sTgforen e
www
1 (2) TE-STAYURM S ferieel 4) erfygfa

29. aTr{ﬁfW!?Wsquudqn STSTR Il 1 dil &, Tl s fh gfafe & sem ), age #t
&, 1 UH TR %1 el S ¢ :
1) gfrEreieTs Fia fruto ) 3-fauoe wma fERw

(3) U<ER YEYAIER ®Hd (ERor (4)  SWed ¥ ®i T/l
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30.

31.

32.

Match the strategies given in List - I with the examples given in List - II :

List - I List - II
(Strategies) (Examples)
(a) Differential Pricing (i)  Customer lounges to sit in while waiting for a

table at service centres, etc.

(b) Complimentary Service (i) Breakfast service by McDonald’s and mini
vacation and weekends by hotels*
}'rg nevies,

(c) Reservation System (iii) Low prices for early and even
weekend discounts for car parking refitals

(d) Non-peak Demand Cultivation (iv) Airlines, Hotels and Pﬁsicians .e'lf{ploy

extensively - |
Codes : - ';I Jr.
@ © © @ L (¢
M 6 G @ W B
@ Gv) @ @ i)
@) () O @) ()
@ ) O (v G

From investor’s point of view, the cost f capital is : ( '
(1) Interest Rate =, 1 ) Market Value
4

(3)  Yield of Capital Sacrific. _,.‘. ) Stock Exchange Value
r'

Formula for net caslkirlﬁciyv of a project is :
(1) Sales— Operatil(g EXpenses — Interest — Tax
2) Sales—Oj : rating Exgenses

(
(3) _ Net Prafiff after tax¥ Depreciation
(

(4 Gross Profif*=Depreciation

Concentration Blking is a method of :

33.
(1) g=Decentralised collection (2) Centralised collection
(3) Direct collgction (4) Payment only through cheques
34. In case, cost of capital is 10%, EPS X 10, IRR 8% and Retention Ratio is 60%, then the value
of equty share as per Gordon’s Model will be :
(1) <100 (2) %87 3) 90 4) R77
oass [ LA v
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30. Gt - I ¥ yS WAl 1 el - 1§ 53 T el § gafad wifsg

et -1 T - 11
(Turifeat ) ( 3T )
(@) fadcw wima fufo () T el el U R Y F F wreft T
et qo ST Wdlel i ¥
(b) e Famd (i) Haetee F TR Yo iR dee g Ay g
shTel SR TR T Had | f’
(c) TR SHeeen (i) W@Wﬁ@%fﬂqﬁmm%ﬁ
qﬁnﬁwqﬁwmm|r 'F
(d) TR-forer =@ s (iv) TR, 5|¢m3ﬁ'{5|ct¢{‘§ﬂaﬂj;l'aiﬂ@aﬂﬁ%l
2 M F
) B © (@ 25 { (¢

(a
(1) @) @) @) (@v) .
2) (v) @) @ () '
@) () @ (v) (i)
(4) () (1) o (v) (i)

32. v&ﬁw%g&ﬁmw?mﬁa%
(1) fosra —H=rer z:‘—naw —&
@ fosa—w {¢
(3) TN, JS T A
(

(,43 me;uq\
33. | FAE Sffehn w fafu €
(i);ﬁ»ré:faa i ) fed g #
@) YaE Eal (4) I % % HIEH § YA 6

34. IS YSi 1 @ 10%, 9fd 39 3T R 10, ST<RF T T 8%, T Ffawmid ST 60% 2,
e o STTER AT S H YT B
1) %100 2) 87 3) T 90 @) %77

o-osss [N 1

www.examrace.com



35. A firm with high operating leverage has :

(1) Low fixed cost in its production process

(2) High variable cost in its production process

(3) High fixed cost in its production process

(4) Low variable cost in its production process

‘1.
D
)

Y

36. Match the items of List - I with List - II according to “The Harvard Fralgwork devgoped

for HRM :
List - I
(a) Stakeholder’s interest
(b) Situational factor
() HRM policy choice

(d) HR outcome

(e) Long - term consequence <

Ji

Codes : 3
(@ (b)) () (\1)1. (e)

(1) (@{v) (ii) ( iif) ‘ Py
2 ) (,ij). (ii) (1)”- (iif)

(m O (i) (i)
@ @O (v [ @G @Gv)
i L

37. The committees

o at the :

1) > @orporate level

(3)  Shop-floor level

o-ass [ VAR

4 4 vy
‘m F
( !

List - IT
is F1 ‘\ .a 1;-

(i)  Work syftems # )

effectivenass

(iii)

1V Government "
} %usmess stra£

Individual Wellfbeing

£

hich promote worker’s participation in management are usually established

(2) Plant level

(4) All of the above
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35. U 3=9 URET ST dTell BH &

(1) e gfshan H feer AW 1 St |

3cq1e Ufshan § gRed=eied anTa Stfues 2t §1

2
(3) SeuTE Uik § feer @ stfres gt 1
)

‘K
/J

36. TA.3TR.UA. & g fowfaq ffa T ‘e mesh ' o T7aR 9 - Iﬁﬂ%‘ﬂﬁ}}iﬁ Jllﬁﬂ"ﬁﬁ

(4) oS Uik § ufked=eiel o w9 et 2

Fafera I : <
Tt -1 el -1 g ‘\ 1

(a) AR 1 e i 7

(b) TRfefasw R (ii) .

(c) TH.IARTA. fifd === (iii) ST Hea ’

(d) TR 9o (iv (wr{ (—'

@ w6 s

A 4
@ ® (o) ((&)-' “(e)

M @ 6 j(ﬁ) (m)‘ )
a0 0. M@ o @
(o @ v ‘F() i
W 6@

37. %ﬁﬂﬁ)ﬁwﬂaﬁaﬁﬁwﬁaﬁaﬁmﬁﬁm:wﬁaﬁﬁ%m:

1)*'fimﬂwwm (2) ' W
®3)

TMG-TAR TR R (4) W gt T W
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38.

39.

40.

41. #Select the major"\ﬂ‘ciples which banks strive to incorporate in their working from the

Choose the correct code for the statements given below :
Statement (I) : T-group and sensitivity training are not the same.

Statement (II) : T-group participants belong to a diverse groups and may not be familiar
with each other.

Statement (III) : T-group training sessions are well structured. 1 «
Codes : r 11
(1) Statements (I) and (II) only are correct \) - & 'I
(2) Only (II) and (III) statements are correct _,r . | r
(3) All the three statements are correct 1 4 2

!
(4) Only statement (II) is correct ~q ‘\_
o) ]

A review is heavily influenced only by afty one|chagacteristic of the employee whose
performance is being reviewed is known as|:

(I) Recency of Events Error (2) Central endeyy

(3) Logical Error 4 ‘(4) Halo Ejfect
" ¢ "
Which one of the following t€sts is not recommended for the top level positions ?

1 4

(1) Presentations = 4 \ (2) Role plays
(3) Interview \ ["' (4) Leaderless group discussions
J j '

. following :
(i) *Profitabilit (b) Labour welfare
(c 4 Social wel)are (d) Safety
(e)y ., HRD (f) Liquidity
Co@sr

M @ b)) 2 @ @© @O @) © @@ 6 @ @ b) @ d

o-ass [ VAR 2
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38.

39.

40.

freferfad el & fore wet %2 1 == +ifs

HAA (1) : A-TE R FagTeiieran gfve e T ¥ |

wmAF (1) : 3T | Wi o 9Tt fafie wEl @ gy 2 € SR dva ¥ R 3 tm-gm W
aftferd = 2 |

HmAT (I11) : - eI T elt yhR ¥ Fifhd 2 ¥ \

>l

: €Y
i ".."/'l'l
g’ \vF

‘ L

(1) It ST (I) Td (1) T & |

(2) Had HYAT (II) & (1) T T | -

(3) |l A e g €
)

(4) HIA HIT (II) T T

T FHUAR S fToaeT &1 qHien 1 51 @ § S9! farsroar geen =1 srcfys ganfaq
FTd! §, IHh! FEd B -

(1) I i e Jfe

(3) difher Ffe *&4 %Fﬁ‘;[
ot
freAiferd o @ HH-W TIeT01 i Sod W el 7 T&Id TEl a1 ST © 2
i

() *(ii @) s frda

(3) NETHR “{ € @) e e =
Y

41.(’%77—11%{@?[13@3? fagrl &1 ==m Hife 9= & o777 FHEfwe R I F T FW

L 22 ’

(a) serT-erdn (b)  FH HA

of T @)

(e)\y TELAREL (f) Aar

FE:

oass

M @ b)) 2 @ @© @O @) © @@ 6 @ @ ®b)@

I z

—
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42. Identify the years in which different phases of Bank Nationalisation took place in India :
(@) 1950 (b) 1955 (c) 1969 (d) 1949 (e) 1980

Codes :

i)
43. 'SWIFT stands for : - ]
\) *
(1) Society for Worldwide Inter-bank Fund Transfer r \ > r’
(2) Society for Worldwide Inter-bank Fast Transmission 14 - K. J
-

(3)  Society for Worldwide Inter-bank Financial Ielei\mmur‘ca}lcms r

(4) None of the above o [ ‘

44. Select the techniques of monetary control adopted by RBI from the following :

(a) Cash Reserve Ratio (b) Statutory Liqilidity I}gﬁo

(c) Bank Rate (@ (Currency RaF-'

Codes : ‘\ } y

1) (@, (b), () (d) (2 -('b)"(c 3) (@, (© 4) (@), (b) (9
<14

45. Which of the fol owirg is 110't a development banking institution ?
. |

(1) IDBI g, / (2) IFCI

(‘(3) EXIM Ban}g\\ 4) ICICI

‘&hicﬁ of the following is not a characteristic of bartering internationally ?
(1) Bartering ¢an be time - consuming.
(2)%y Bartering can be expensive.

-

(3) Bartering is a type of service export and import.

Bartering can be risky.

D.ass IIHIIHIIHII\ IR
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42, T 961 F YgAW HifC S8 ard H Sl & T & grery # fafie wwon § w5 gen ¢

(a) 1950 (b) 1955 (©) 1969 ) 1949 (€) 1980

e :

1) @, (b), (), (d) (2) (b), (c) (e) 3)  (b), (d), () 4)  (c) (d) (e)

« 34

43. 'THTYIE.URA. | a0 T __'" b |

(1) TR B qedaEe s B T r'; (r,‘J

(2) TEH ER ACEALS IH-AF B A -

(3) WHEEE ®R GeCaEs $-dh HEAaAA WWW

(4) ST H G B & 1 ¢
44, Trefafed & 9 R, mwﬁaﬁ{jﬁwwaﬁm

(a) TeRal srfard fafy stgama

() & (Y {1&1 x

HE : y

1) (@, (b), (c), (d) .LM(C), (d) G) @, © @ 4) (@), (b), (c)

A §

45. frfafed § @ ®E- W@WW?@%?

(1) smw j ) | (2) oE.UEE .

L(3) TfsH (4) oW 3T W e,

46. ﬁmﬁﬁaﬁﬁ@ ~1 SR~ TR W - faf e gen &1 @ein & § 2
- ::jﬁwwm%
k Tt & Hhdl T

3) *T:FE\[) fafToa T yR &t frafa iR e e T

(4) =% fafa Sifevews & 9 |

o-osss [N 2
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47. Assertion (A) : International business has grown in more recent years at a faster pace than
global production.

Reason (R) : Growth through trade has increased, but growth through foreign direct
investment has not.

Codes :

(1) Both (A) and (R) are correct (2)  (A) is correct but (R) is incorrect _ \ "\

(3) (A) is incorrect but (R) is correct (4) Both (A) and (R) are incorrect )r
48. Identify the multinational corporations (MNCs) from the following : ,.r r
L
() 10CL (b) GAIL ©) ..sB‘% { ‘l"
(d) SAIL (e) Tata Steel 1. k‘ harth Petroleum
Codes : |

49. Statement-I: Legal agreements between two countries %ﬂ’vern how both the countries
tax earnings. 4/

Statement-II : International ay determine ho( and whether companies can operate
in a certain {

Codes : -
(1) Both the statemen"tg-are true
-
(2) Both the _statenﬁnts F,re false
(3) Statem&q I is true but Statement-II is false
= -|(

(_, 4) Statement}l\iﬁialse but Statement-II is true

50. Which of the following is an example of an issue for which an agreement has not been made
b'etween two or ore countries ?

(1) Restrictin harmful emissions
(2) Deep sea mining in non-coastal areas of the oceans
(3 I‘Eeservmg endangered species
(4) Banning the use of certain pesticides
o-ass [TV 2 Fapert
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47. AMIRIT (A): T F Ul A Ay Ieued i gorT § TR AR H gy fusw g B

qe (R) : SR % W ¥ g5 @ T, g yoet foreh frae & wream 9 7 ¢ 2
e :
(1) (A) 3R (R) Tl T & (2) (A) " & W (R) T 2
|
(3) (A) 7o ¥ TG (R) WA B (4)  (A) ¥R (R) I T ¥ *r*:
\) % /'l'l
48. Trfafed # & 9g-U<E fFEl 1 989 SN ( "r'
(a) oTE.3hT. (b) ST m;aja%% 30/
(d) TETIETE. © ﬁr&ﬁaﬁmr

e :
1) () ( ?
49. HYT-1: T & oA gL R THSAA TS ﬁapﬁ%ﬂwlsq'{dwﬁmud%l

HIA-1I : m@awﬁﬁﬁﬁm%%mﬁmﬁf?wwﬁwwﬁu
RE : '
(1) SH T TR T ““‘
(2 ?ﬁmmwil‘{

)
)

(3) HU - qu;jw(aaim I1 TeTd © |
)

(4 IE% Jd T T R - 1198 T

(ﬁmﬁ@aﬁ@w}v T I 1 3SR © 9 gaeft <t steran 1 @ o1fyes <9 & o9 &g
wsﬁmﬂﬁgw%

aﬁquwaﬁqﬁaf%m
LHT:WW{’I T &l | TEA-ER

) R STt i T FA
(4) TAfvead e e qEmEdl & TN W ek
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51.

52.

53.

Match the items of List - I with List - II :

List - I List - II

(a) Intangible Assets (i) Ind AS31
(b) Impairment of Assets (i) Ind AS 34
(c) Interim Financial Reporting (iii) Ind AS 36
(d) Interests in Joint Ventures (iv) Ind AS 38 1
Codes : ‘( ‘:‘ _

@ (b (o (d i /‘ ,I
®» @ @ @G (@) r F
(2)  Gv) (D) @) @) i ,
G) Gv) @ G) () 4 vy
@ ) @ O G Y o J

iii) 1 .-._

Assertion (A) : Human Resource Accountin,
people to the organization.

t e mea urement of the cost and value of

Reasoning (R) : Human Resource Accounting invplveg measuring costs incurred by the
organizations to recruit, select, hire jtrain and develop employees and judge
their economic value to the organiZafion.

Codes : . /
(1) Assertion (A) and Reasoning i@re correct arﬁ (R) is the right explanation of (A)

(2) Assertion (A) and Reasdfling (R) are correct’'and (R) is not the right explanation
of (A)

(3) Assertion (A) is corre€f'but Reasoning (R) is incorrect
(4) Both Assertiom(A‘) and Reasoning (R) are incorrect
N
For the dischehFe of its, f‘fr.lctions efficiently, SEBI has been vested with the following
powers

“(a)s to approx‘ y-laws of stock exchanges

(b) to direct tHd stack exchanges to amend their by-laws

" (c) inspect thefbooks of accounts and call for periodical returns from recognized stock

» exchanges
(@) g~ inspect the books of accounts of financial intermediaries
(e} compel certain companies to list their shares in one or more stock exchanges

(£)\  registration of brokers

<Ci> <ﬁ'> (b) <>and G @ (@) () (d) and ()
© ) and (1 @) (@), (), ©) (), () and ()
oo (NN 2
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51. 3T - [ &I 7&l ! e - [ 1 7af § Afad wifee
ST - 1 ST - 11
(i) 3= TUE 31
grafaai &t &fd (i) 3 TUH. 34
(i) 37 T.UH. 36
(iv) 3 T.UH. 38 (

Y
52. fHoemm (A):  AWE SUEE A@iHT 9T & T oI H1 A T
e (R) : HTE HHE Wi el [ o1 ordll, =, Ffe, giveror, we
foreRTe 1 AT & A9 T f?iﬁ&ﬁ%t@%aﬂwwwraw

HA B
) W(A)ﬁﬁ(wﬁqﬁﬁm(&ﬁﬂﬁ%(R)W%\’l
) freeEE (A) T A (R) =] (A) FT @l S (R) T HE R |
3) frvee (A) T ¥ WG gk (R) o ¥
) ﬁwmmaaﬁ@)aﬁw%,

(a) ¥ o IAMAHI I SFATAINCT AT
(b)) Ty fgh! 3T Sufdl # Tene & & faw e <

(.

53. 3T &l H @?Fmi!% T T 3 1 I FrAAEd SR weE R T

) AT TR [ % TG TEIh] 1 S AT Tl GH{I fqawor o5 i |1 w1

) o Tl ot o Tkl i S

W 4 wmﬁ@mﬁwwaﬁﬂﬁ@ﬁaﬁﬁﬁwﬁ%mmww
)

(
(c
(d
(e
(f

Q" @ o), © @ 2) (@) () (d) 3 (f)
3) (), (), (d), (e) 3 (f) 4) (@), (), (), (d), (e) 3 (f)
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54.

55.

Consider the following characteristics :

(a) High risk high return opportunity
(b) Small and medium size enterprise
(c) Private equity stakes in start-ups
(d) Investment fund 1

<
The above attributes are found in : ( 1.
(1) Mutual Funds (2) Venture Capital Funds /"'

F

(3)  Qualified Institutional Buyers (4) Domestic Institutional Inv! tors
¥ y v
1 F

Identify the incorrect statement(s), regarding moné&nﬁfket atlo-ng{ the following :

-

a e call money market deals in short term finance r able on demand, with a maturit
The call y market deals in sh &payable on demand, with y
period varying from one day to 14 day

(b) Treasury bills are instruments of shomt-term Borrgwing by the Government of India,
issued as promissory notes under discount.

() A reduction in the repo rate helps banks to get moneygﬂ a cheaper rate.

(d) Money market mutual funds 1'*\'7& money in specifically, high-quality and very short
maturity-based money mﬁeﬂinstruments.

Codes : s ,A‘
(1) (a) and (c) i 4 2) (b
@) () ( |~ (4) None of the above

56..1 “Buyers are .]iej rice sensitive when they cannot easily compare the quality substitutes”.

57.

o-ass [ VAR z

Which of the follewing factors of price sensitivity is reflected from this statement ?

. (1) Substitute fawareness effect (2) Unique value effect

(3‘_) "Price quality effect (4) None of the above
F’

The model of decision support where there is recommendation of the type of advertisement
wit‘_humourous and ‘slice of life’ kinds of appeals to use for given marketing goals and
characg@ristics of products, target markets and competitive situations is known as :

(1) MEDIAC (2) PROMOTOR (3) ADCAD (4) COVERSTORY

@
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54, fr=fafaa fogmaet @ faer wifs .

(a) =9 SifgH S=u gfawel el

(b) T TE HEAH W{F IUHA
(c) a3zl # frsit @nfae fea
(d) fafwEm s .

S o et B U e ¥ ’4‘:
(1) el ffer o (2) Hrefas gt wi § /"
(3) I e shanet (4) it weumTq fafs ( 14

55. TgI- w%wﬁﬁﬁwﬁw@aﬁﬁmmw@)aﬁwaﬁm
(a) TIT-TET AR STEqHTE mwwmﬁmﬁw %‘Wv@mmﬁ:w@

<ieg o &t &1 Tt 71

(b) oot foret 9IRE TXhR g1 ferg T otw g forept frte aree W gfasn 73 &
w9 ¥ foran ST 2 |

() X H FH ¥ SRl hl FH R W gZ I HA A et 2

(d) Hs1 IR IREafs iy qa1 %rsﬁzacr@ T Al sTeusRrel gfaserdr
mﬁwwuﬁmﬁmﬁj

%< V4

(1) (@ () - 2 (b

(3) (@ u (4) v H | T

56. WW%@?WW%%W%WW&'Q@W@W@W
gad g1’ J‘

(rsqﬁaaaw-—rgm B FHd T HHE-91 AT HRE IR Siel § 2
L (1) faemTeR- ERICH (2) SIS I 99T
®) SR T[0T Y (4) IR H 9 & Tl
r’
57. e Agd gy T8 foqma =1 fawifer & S 3, <y 3w aEw’ SiE oTdeli bl

&I, IS AL, AfRTd oISIR Tel Fiqeqeifenes feafqa & fow wam &ear §, 39 #gd © -
1) e (i) (2)  TERR (TR 80T A AR,
(3) TSHe (TIHTEL) (4) FREQ
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58.

59.

60.

61.

o.ass

o g

Which of the following statements is not true ?

1)

Marketing profitability analysis measures the profitability of different marketing
activities.

Marketing efficiency studies try to determine how various marketing activities could
be carried out more efficiently.

Each company needs to reassess periodically its marketing effectiveness through a
control instrument called marketing audit.
f' )

All the above are true

" [ ]

Industry boundaries are blurring at an incredible rate as companies are lgc'ognizing ;c]fal\t the
new opportunities lie at the intersection of two or more industries, it issealled : |

(1)
®3)

A picture of two characters is presented, wi
asked to identify with the other and fill in t

.
Globalization Customization « & \

N

k]

2)
(4) Acquif,'itiqr:

Industry convergence

one makihg a statement. Respondents are
empty balloon.

This description belongs to which one of the followihg projective techniques ?

1)
)

Thematic Apperception Test (2)

Picture | omplc?on Test
Sentence Completion Test 4 ( Story Cfﬂ'l'pktlon Test

Match the items of List - I wi 14 tems of List - IIi:

a

b
)
(o

(
(
(
(
(
(f)

v

(E,,ode.rs :

1
2).
3)

(
(
)
(4)

List - 1 - List - II
(Job Analysis) 4 (Examples)
Task 2 (i) # \Payroll processing
Element « / ( (11 “Compensation policy administrator
Duty J‘! (i) Compensation design manager
Position (iv) Compensation specialist
Job ‘\\ (v) Preparing forms
Occupatio (vi) Signing pay- cheques
-
(@) (b) )(C) (d () (®
@) @)L @) @) (v) (Vi)
S (vi) @ ) (D) (1)
T® © w6 o
(vi) (@) @) @) @) (v)
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. Trefafed § § #9-91 w1 9 T8 22

=

(1) oo emaeaar faveryor fafue fauqom fawanet St emueaar =1 A9 2|

(2) ToUUM I&A S1EEEA T TAT AN K YA A ¢ foh fauoE 6 fafve franetl w8 sifien qar
EIIRICERERIS IR

(3) YAF HFAT ol =MfeT foh o8 THI-THA W fI9uM Sfeharor g1 foavr S&rdn 1 A: Yol
H | p ‘ﬂ\

(4) ST Tt TE ), |

: aﬁ@ﬁmwmaﬁwq@@%mwﬁm%mﬂ@wwﬁwém
A W e SE whi STHIERTAT W IR ¥, 39 HEd € >

(1) e (2 wEEEHE o« ‘;f_ r

(3) @ sfirRm (4) afwg\ { 1___-

Fl 1
. <9 & fa= foame T § i 3w =fe Wi | STEHIS § TR a9 &l qgar
T WTeft Tea 1 9 ! gl S ¢ |
g Toaru fr=fafaa gerd faftt 5 9 feeg Wﬁaﬁ

(1) o9 AEMES e ghe ) qﬁ?
(3)  aT YUIEHROT qrETT 4 (4 Eh—a'Fﬁ T

. el - [ F1 AT I I - Haﬁﬁ‘@éﬂfwaﬂﬁq f
T - 1 - T - 11
(e fagermor) 4 4 ( STeYT)

Cap] (i“:f(i) CrElEC |
il ‘ ) fagfd e e
(

(

(

PrOP WJ‘ i) faqfd fesme yereasw
iv) gﬁ'{ﬁm
V) TRHT T TR

(vi) STSTERT <ehl TR TEAT&R AT

@@ () j(o () (e (
®) (@ @) @) (V) (i)
o) (Vi) (@) @) () (Qv)
i) (v) (v) @) @) ()
O G G @) (V)

f)
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62. In which of the following types of collective bargaining, one party gains at the expense of the
other ?

(1) Distributive bargaining (2) Integrative bargaining
(3) Centralized bargaining (4) None of the above
'
63. Which one of the following dispute settlers cannot make a binding decision ? ‘r h*
(1) Arbitrator (2) Adjudicator / " )
(3) Conciliator (4) Industrial tribunal rnernber ' r
-
L
T
64. Ensuring the safety, health and welfare of the employeeis the pfma ILpurposrr of which one
of the following Acts ? o | e‘\
i ’ i

1 The Factories Act, 1948

2 The Payment of Wages Act, 1936

(1)
()
(3) The Equal Remuneration Act, 1976
(4)

The Industrial Disputes Act, 1947 f

4 (""

3 { -
65. Match the items of List - I wi‘q jhe tems of List - IT and select the correct code :

List -1 List - IT
1 4

(a) Pension schemeé 4 . (i)  Health Care for family
(b)  Personal curisr : {¢ (i) Severance Pay
(©) Finanoﬂljssistancé (iii) Provident Fund

'f(a) Allowancef\\ (iv) Transport Allowance
- @ © (@
1) @ @) Faip) (i)
(2% (i) @ () (iv)
@@ @ O W)
(4) (@) (@v) @) (i)

o-oss || EANAHNII .
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62.

63.

64.

65.

frefafed arfes dicarst & YRl § § fHad T 9 1 T 981 1 HiAd T 19 21 § 7

(1) foaRo Feerst (2) TR HiETsi

(3) F=FHA Hiearsit (4) ST HF HE T

forote %1 e ATl Frefetan § W fw Futa s T r‘,‘\

1) foem=s 2) sfufofars ;‘J

(3) AEHR (4) ﬁﬁﬁmmﬁwwr F
i 4 2

HEER T GR&T, WA 3R FHeam &l ghHfeea Gh{'ﬂ{eh{*l afwﬁm{% ‘QTQTW?&&I%”

(1) @ AfEE, 1948 '
(2) weIG ererE stfuftEm, 1936

(3) HHM uiRkAtHe stfafred, 1976

(4)

4) it foare erfufTam, 1947

SR -
(b) AR ( J (i) gUFRII Fa
(c) , forcita -' (iii) wfersg fafy
(') Ll "”\\\ (iv) I W=
T @ () J© (@
<1& @ (@ J (i)  (iv)
QWG @ @) v
©) *<1 (n) (i) (v)
(iif)
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66.

67.

68.

Examine the following statements and choose the correct answer :

Statement - I : FlIs do not invest in unlisted securities. They participate only through Stock
Exchanges.

Statement - II : Flls cannot invest at the time of initial allotment.

Codes : 1 (\
(1) Both the statements are wrong ( 1
(2) Both the statements are correct \J - / ’ 'I
(3) Statement-I is correct but the statement-II is wrong __,r . r
(4) Statement-I is wrong but the statement-II is correct = :': i Jr.

.

\ -
| ’\ E| |
Which one of the following is not a member cguntry in the Association of South-East Asian
Nations (ASEAN) ?

(1) Singapore (2) Malaysia (3) hajland (4) Vietnam

£

Match the items of List - I with the %A.s of List - II ﬁnd select the correct answer with the

codes given below : < _
i

List - I ] A List - 11
(a) SAARC ¥ (i)  Philippines
| -
(b) ASEAN ( ‘: (i) Canada
(c) EU j "f_ ' (iii) Afghanistan
-—(d) /' NAFTA (iv) Hungary

(Codes :

¥ W) (b) (©) (d)

J"
(iii)
(iii)
“"" () (iv) (i)

(4) (111) (iv) @) ()

o-ass [ VAR ’
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66. TT=fafEd woAl W fa=R SIS T QEr ST H1 TI1 Hied

67.

AR -1: TH.TR.ES. sryieg Fiagfadl o faw 7 #cdt €1 9 Faa whe faufon &

wegH § WHT ot |
ARMHYT - I1: .35, IR e & 99g o9 &1 T Hehdl |
1)
1) SH wUA g =
(1) T e ‘) /‘,I
(2) < ®HUT T T f‘ . "r'

-

)
(3) HYA-1HE € Tg 11 7Ted |
)

(4) ®mYA-17Ad € TG 11 9L 7

frefafed § 9 =1 -1 Thied Ti & T9(TTEE T HE.) # 06 6958 T T8 © 2
(1) e 2) wifemn

68. El - 1 Wal o e gl - Ilaﬁ%%waaﬂﬁﬁﬁ%ﬁﬁnﬁ%ﬁﬁﬂﬁwww

CAIEEN

qeft- 1 u‘ A - 11
(a) TETTARA. @ () foetda
(b) TEHIT (a*wﬂpf (i) T
©, 1 qj (i) s
@ wuea \(Tm) (v) @
]
@ Bl @
<k'<> @) J(i) i
@G @ O G
@ @ O @
@ G @ @
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69. Which among the following are criticisms given against World Trade Organization (WTO) ?
(a) It is not a democratic and transparent institution.

(b) It has domination of international trade by rich countries for the benefit of their
individual interests.

(c) It encourages a ‘race to the bottom’ in wages by pitting workers against each other

rather than promoting internationally recognized labor standards. P, LS
(d) Itis seeking to privatize essential public services. " o |
s J

Codes : B, (‘
(1) (b), (c) and (d) (2)  (a) (b) and (c) ..r . F

s
(3) (@), (b) and (d) @ @ () ©and @44 "r

i AN
.
1N\
70. Domestic Currency tends to depreciate owing 0" : ]

(1) Constant inflation rate (2) oweting of inflation'rate

(3) High inflation rate (4) | All of thejabove

£

71. Consider the following conditions : ¥ (

(@) An individual is in India 8 @dperiod of 182 days in the financial year in which he is
getting his salary incom‘..j

(b) Anindividual is in India for a period of 60 days or more during financial year in which
he gets his salary and 365 days or more during 4 years immediately preceding to that
financial year. g% »'

If one of the abgve condgtiti)flls is satisfied, as per the provisions of Income Tax Act, 1961, he
is:
. o
“(1)" Resident ot ordinarily resident of India
a
( 2) Non—resid:‘t{chizen of India

(

(

(8) Resident and categorised citizen of India U/S 29
(ZL")'"'r Ordinary }sident of India

72. Agriculture income is exempted from income tax under the following section of Income Tax

Act, 1961
(1) 24 ) 10 1) (3) 10 () (4) 10 @
oss [[[{{HANREANN y paper
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69. fr=fafgd # 9 =F fava MR e &1 =T § 2

(a)
(b)
(©)

IE Teh Alhdi(5eh T JReel Fe Tef 2
o8 =afaaa fedi % ol % ford TR g =amR & TR 39 o1 9 B |

I STAULE T IR T I 98 "I Sl GgraT oF o €1 T FfHe &l Th-gl o foeg
L TG BT H SR A S R Wedied w7 A

-
78 SAfard SH-gaeet #1 Feiewtor S =Ed | _f ‘)
A /i'l
| . XV
(b), (©) T (d) @ (@), ) () x;'*"
(a), (b) T (d) m>m@mwmiux F

70. BT qe1 H fhe SR g o 7 2

(1)
€)

. {
N k
oo ggremifa ¢ (2)/ EREISRERINSIEI
I=d HETERITA X 4) ' SR

£

| ] (
71. frafafes saf ) fo=m wife . <

(a)

(b)

o e e e P 3 S 182 ot 3 fer e for fore 7 o v @ o

Y€ |
i

Q%aﬁa%ﬁ?ﬁmgﬁﬁmwﬁ6mmaﬁ%ﬁﬁ%ﬁmﬁm%ﬂﬁwﬁﬂﬁwﬁmammﬂ
A § Td FHo qud gl ok 4 T § 365 7 IUY aAferen foAl % fow wrd # T €

=]

RESEIEER , 1961 3 1€ et T od &l q0 3 € @

k@

2)

g Treme) ST IR YR w1 Temet T §
AR T AT |

(
(3);%41?29% 9 Fifeag R Td 9Rd &1 et 71
(4('wrrcrwmjwwﬁm%

72. am%zﬁﬁ%rﬁm 1961 =1 for@ o1 % a1efi T o1ma 1 MFes q B2 9 § 2

1)

10 (1) 3) 10 (2) 4) 10 (4)

2 (1A) (2)
o-osss [N .
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73.

74.

75.

Match the items of List - I with List - II :
List - I List - II
(a) When the assessee is in default or is deemed to be (i)  Section 271 (1) (c)
in default in making payment of tax, including

the tax deducted at source

(b) Failure to pay the advance tax as directed by the (ii) Section 273 (|1‘)
Assessing Officer < 2%

(c) Concealment of particulars of income or (iii) Section 201'(’1) o |
furnishing of inaccurate particulars of . 9 / 3 'I
income r . d ;

Codes : - . |
@ ® © <A g

® 6 @ G LA €

@ @) @ 0 1 ¥

(G) @) @ 3G .

4) @@ @ ()

Assertion (A) : Tax evasion is undertaken/by employihg unfair means.
Codes : 4/

(1) Assertion (A) is correct a zasoning (R) is the right explanation of (A).
(2) Assertion (A) is correct‘) t

(3) Both Assertion (A) amd*Reasoning (R) are correct independently and (R) may be
considered as an i lanation of (A).

(4) Both Assertioﬁ"((A;) ‘nkd Reasoning (R) are incorrect.

’ L
Reasoning (R) : Payment of tax is avoided through i egal Ir}é'ans or fraud for tax evasion.

asoning (R) is fiot the right explanation of (A).

Which among. e following are necessary documents to file Income Tax Return for an
employed pegson in India ?

“(a)" Adhar Car

P
(b) PAN Card

" (c) Form No. 16 issued by employer

C"_?de'S:
(1) (a) only (2)  (a) and (b) () (@ (B and () (4) (b)and(c)
-00o0-
-~ .
o-osss |[[{I[ LAV HIN 55
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73. e - 1 T8 Gt - [ ! Gafad wifd -

et -1 g - 11
(a) & QM H bl 7 L T A T FHIE () =271 (1) (<)
T FR BT A 7 HIA T S S AT S T
TR
(b) = ko st g FrRRm otfim & &1 (i) ST 273 ( 1) “\
PIAE HH B 3% B |
(c) 3 % faaoll sl U a1 3T 1 Tera foemor | (i) H‘I'{r%)
%<
(@ () (9
1) () () (i)
(2) @) @) @)
(3) () (@) (i)
(4) @@ (@) (i)
74. TRg=E (A): m%ﬁfraﬁﬁmmﬁﬁfgz
e (R) : aﬂaﬁﬁ%mmwﬁﬁw:ﬂw amﬁwmmw%
%<
(1) Froeam (A) 9@ 2 3l (R),44) uﬁw%l
(@) e (a) W E T (W4() e 7
(3) (A) 3R (R) 3 @ #9 & F& § IR (R) F (A) FT FE AT T 1 FHA B
4) (A) R (R) W%

75. Waﬁﬁﬁﬁ‘jﬂ@wﬁ;ﬁ?ﬁﬁwqw foeRoT Tgd 3 ?q FMefafad § 9 &9 9 T
N

55 YR TS
\ b ﬁ@@ (
_e TN tmﬁ & 16
T(W (2) (a) 3R (b) 3) @), (03I @ (O IAR()
o0o
o-osss [[[|EIIFARANNI 5
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